B VT

o4

IRz2 ¢ =1 k=n)
2025 F 4 AEHFHAEEHEFSREESGE —F R
B RBSIR 5%
GRS 02199)

EREI:

1. FABDARERSY, B REFR, E_BHAHIFEEFEHR.

2. MEHELMTIRRBINFEZE R (K) BEMELEE, ZTERELRH.
3. A, EEMOULHER 2BIRE, PEMVIULIAEAEEFITEFE.

E—EsH WIS

— BUUEER: KAKXEL 12/, 8E3 57, #3657. £B/NETIHIZIRTH

RE-DEsfadBERY, HEEEL,
1. PIEHM=AFF, BRI-11R
A. \/E(cosgﬂsin%) B. \/E(cos%ﬂsin?%)

a ﬁ(cos%ﬂsin%) D. \/E(cos%tﬂsin?%)

2. ®#D={z| |z-i|>1}, MDY

A HRZEERS B. 5L ikiEXE
C. HRLEBE D. T H#iEERXE
3.mmmnfz=
=i z7 =]
&, = B. i
c. 0 D. 1

4. XTREEEZEEH z, Mz, THRER—ERLIIE
A. In(zz,)=Inz +Inz, B. In(z/z,)=Inz,-Inz,

€. &% =g:g® D. |sinz <1

ETRBERSTHE AT FH1 1 (G470

10.

11.

0 s =
B[,z
A. 2mi B. 0
C. mi D. 2mi
g > OO e
n=1 n:
A. Hatiisl B. %&Mlksk
C. K&t D. TiE¥FlE
EL f(2) = 75§ AT ARV B B i 0 AT
Z(Zz—1
A. |z—i]<-1— B. O<|z—i|<l
2 2
e [z—ill D. 0<z-if1
- Rz BAINERE Mg KImWESMnMES, Em<n, W=z, &

f(2) 4

g(z)

A. A[ETE B. m—ntks
C. n—mMks D. AHEFA

Bt w=z" + 2z z DR RXE AN

1 1
A. |z|<—= B. |z+1|<=
2 2
C. |z|>l D. |z+l[>l
2 2
. 2z-1 ,
DARLIERS w=——1BANVEE| z|= 18N
—z
A. |w|=1 B. |w|=2
C. |lw—-1]=1 D. |w-1|=2

ROPEEMRZRF [f()]=F(o), WF@¢)HERETERF [F()]=
A. 27 f(w) B. f(-w)
C. 2n f(~w) D. 2n f(w)

ETRHERITHAE F20 G470



12.

13.

14.

15.

16.

17.

18.

19.

20.

21,

22,

23.

B L@, f'@) MBS RETEREFE, L L [f(O)]=F(p), WL [f'®)]=

A. pF(p) B. pF(p)+1(0)

Cc. F(p)-f(0) D. pF(p)-f(0)

FERSy  IEEER
HZ . AR S ME, §E3 2, H 1559,
BWEH z=2-3])(-2+1), WIm(z)= .

WERH f(2)= (" +2y)+i2xy, W f'(1-1)=

ERH 23—2 B E

n=1

%/\ﬁj. dz= .

lz=l sin z

S RBHIEER R F [60(0)]=

HHE: AATH6/NE, SMHESSH, #3045,
REH z = (VB3 -0)> Bt
KR e’ =1+~/31 AR
WA [ Imzdz, Hh C A0 BIA 2+ 21 MELE.

BEE S (2) =te~'3 PEIRIFRIR 0 <| z | < oo P JR IT RV B2 4K

t<0

0, . 0, <0, .
a%m%ﬁzf,(r)z{l P fz(t)={e_, xzo,*ﬁﬁf'm*ﬁm'

I P T AR 4 ) R SR BR B f (£) = e (00 B b 2 e

SRR ETI LR HE  H 30 (354 70D

PO, S48 KK /NG, E24, 25HE 645, E26F 7%, E£19%9.

24. WHEEH f(2) =x" -y +207)" AT SHESMITHE

25. (1) KK if(f(z)— FEILE &z, =17 z, = —1 LR EE 4K

cosx
-0 x% 41

Q)ﬂ%%ﬁﬁﬁ%%ﬁf

dx.

26. BEIV(x,y)=(x—1) —y* RIAMEE, RiHL2 £() =0T EE f(2)=u+iv.

SRR SR THAE F 4T G470



